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CEBI11 86743

MULTIPLE CHOICE QUESTIONS
SUBJECT : PHYSICS
FULL MARKS : 40

. (Each question carries one mark.)
(English Version)

(jwcuA*"’HS;undB-qﬂ 'l'h:componmmfvecmra alongvectorﬁls
1 3 7

A, Ti B, ﬁ . *ﬁ D. \&

A cubical vessel of height 1 m is full of water. What is the amount of work done in
pumping water out of the vessel ? (Take g =10 m $2)
A: 1250) B. 5000)J C. 1000] D. 2500]

A stone of relative density K is released from rest on the surface of a lake. If viscous effects
are ignored, the stone sinks in water with en acceleration of

A g(1-K) B. g(1+K) C: ﬁ(l"‘ili) D. g(1+l-

If a persan can throw a stone to maximum height of b metre vertically, then the MAaxinum
distance through which it ¢an be thrown horizontally by the same person is

g B. h B WL D. 3h

-

A body of mass 6 kg is acted upon by a force which causes a displacement in it given by
2
; metre where t is the time in second. The work done by the force in 2 seconds 1s

A 12] B. 91I R D. 3]

A box 15 muwd along a straight line by 3 machine delivering mnstmt power. The dmtance
moved by the body in time t is pmportmnal to
|

B
As o B. t‘ C. 1t D. t

A particle is moving wilk a constant speed v in a circle. What is the magnitude of average
velocity after half rotation ? ,

v ; -
A. 2v B. 2;" £ 2 ]I.-.')+ It

A crickel ball of mass 0.25 kg with speed 10 nv's collides with a bat and retumns with same
speed within 0.01 S. The force acted on bat is _

A. 25N B. 50N C. 250N D. 500N

-
T
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| : " ‘ -
If the Earth were to suddenly contract to Tt of its preseat radins without any change in its
mass, the durution of the new day will be nearly
A. 24/mhr B. 24nhr C. 24/n*hr D. 24n?hr

I1 g is the acceleration due to gravity on the surface of the carth, the gain in potential energy
of an object of mass m raised from the carth’s surface (0.3 height equul 10 the radius R of
the earth is

A _HJ%_E B, “HJ%E C. mgR D. 2mgR
The charge on the capacitor of capacitance C shown in the figure below will be
E r
:: WV
'vwisz——i
Ry
| —AANVAAN
3
CER CE R, CER,
sl ! :
A. CE B. R|+r C. R2+1' D. Rz+r

A-—M ' A r B
A. 3R B. R
L %‘ D. None of the above

Five equal resistances, cach of resistance R, are connecled as nhnv:rn in ﬂg_um below. A
buttery of V volt is connected between A Em.l B. The current flowing in FC will be

3 P.T.O.
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17.

18.

19.
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Two cells with the sume em.L E and different miternal resistances r and [, dre connected

in senes o an exwnel resistance R, The value of R so that the porential difference across
the first cell be zero is

. ' o
A. Iy I, B. r+r, . c. r =Ty D. 3

Current through ABC and A'B'C’ is L. What is the magnetic field 4t P ? BP = PB' = r (Here
C'B' PBC are collinear)

i
;G
1 21 K [2-1-

_ 121 _He(2 B
A Beor= B. B=(' rJ C. B—hC:J T

The mugnetic field ot the point of intersection of diagonils of & sguace wire loop of side L
carrymng a current I'is

Ho 2l '\ﬁl“ul- 232 ol
b L

;_L B. nL C. nL : nl

in an inclastic callision an electron excites as hydrogen atom from its ground state to a M-
shell state, A sccond electron collides instantaneously with the excited hydrogen atom in
the M-Siate and jonizes (1. At leust how much energy the second electron trinsfers to the
atom’'in the M-state ? | .

A. +34eV B. +1.51¢V C. -34eV D. -151eV

A radioactive nucleus of mass number A, initially at rest, emits an o-particle with a speed
v. The recoil speed of the daughter nucleus will be

2v 2v 4y 4y
aler = B. A3 ¢ A-3 D &+4d

In the nuclear reaction
";N+x—_-—+ l‘;c+. 'H
the X will be

A. ?f: B. IH C.

e colleged
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86743
20:  Which type of Gate the following truth 1able represents 7
Input | Output
A B Q
0 0 1
0 1 1
l 0 1
1 1 0
A.  NOT B. AND C. OR D. . NAND

21. A material has Poisson's ratio 0.50. If a uniform rod of it suffers a longitudinal strain of

22

2 % 1073, then the percentage chunge in volume is
A 06 B. 04 €. 02 D. zero

Two identical springs are connected 10 mass m as shown (k = spring constant). If the periad
of the configuration in (a) i 28, the period of thé configuration (b) is

k

k k
m
-(a) M
| 1
A. 428 B. 18 C 35S D. 2428

An object weighs m, in 2 liquid of density d, and that in liquid of density d, is m,. The
density d of the object is - ‘ ' |

I‘I'L,tl —-IEI.d m.d""m«dq
Al gt B dm—b—=1
m, =1m, iy — i,
m,d, —md. m,d, —m.d
L 24, ___Jd: B dm el
my —m, R

A body floats in water with 40% of its volume outside water. When the same body floats in
an oil, 60% of its volume remains outside oil. The relative density of 01l is
A. 09 B. 1.0 C. 12 B~ 15

Two soap bubbles of radii x and ‘y codlesce to constitute & bubble of radius 2. Then 2 s
equul 1o

A, N+ y B. 'J.ﬁ-y C. x+y D. 3

5 P.T.0.
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A particle of mass m is located in a one dimensional potential field where potential energy
is given by :

Vix) = A(l — cos px), where A and p are constants. The period of small oscillations of the
particle 18

J m m m 1 _[Ap
A. 2“‘\/(;&1}) B. znﬂ/{Apzj C. 27:‘\/; D. o "

The period of oscillation of a simple pendulum of length / suspended from the roof of a
vehicle, which moves without friction down an inclined plane of inclination a, 1s given by

! [
A 2n B. 2n f Con P2% ‘\/1 D. 2n /
\chusu "Jgsmu g g tan o

In Young's double slit experiment the two slits are d distance apart. Interference pattern 1s
observed on a screen at a distance D from the slits. A dark fringe 1s observed on the screen
dircctly opposite to one of the slits. The wavelength of lightis

D @ D? &

g—

2d " - ST T o 3 B D

A

A plane progressive wave is given by y = 2 cos 6.284 (330 t ~ x). What is the period of the
wave 7

- 6.284
B B. 2mx3308  C (nx330y'S D. S35

The displacement of a particle in S.H.M. varies according to the relation x = 4(cos nt + sin nt).
The amplitude of the particle 1s

M B. 4 C. &2 D 3

4 A-42 B-T72 _
Two tremperatire scales A and B are related by =777~ =753 - At which temperature Iwo

scales have the sume reading ?
A 42 B. -72° C. #12° D. -40°

An ideal gas is compressed isothermally antil its pressure is doubled and then allowed to
expand adiabatically to regain its original volume (y = 1.4 and 2~'4 = 0.38). The ratio of the
final to initial pressure is

A BIH: ] B. 1:1 C™ %66 : L D. 086:1

Air inside a closed container is saturated with water vapour. The air pressure is p and the

saturated vapour pressure of water is p. If the mixtuwre 15 compressed w-one half of its
volume by maintaining temperature constant, the pressure becomes

A. 2(p+p) B. 2p+p C. (p+pN2 D. p+2p

- collegedunia:
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34. 1.56 x 10° }J of heat is conducted tirough a 2 m? wall of 12 cm thick in one hour.

Temperature difference between the two sides of the wall is 20 °C. The thermal
conductivity of the material of the wall is (in W m™! K~)

A. 011 B. 013 C. 0.15 D 2

35. A diverat a depth of 12 m in water (p = %J sees the sky in a cone of semivertical 'anglr: -
r 4 . ¥
i T [3‘) B. tan 'E} C. sin"(%) D. 90°

36. Two thin lenses of focal lengths 20 em and 25 cm are placed in conacl. The effective
power of the combination is

A. 9D B. 2D C. 3D D. 7D

37. A convex lens of focal length 30 cm produces 5 times magnified real image of an object.
What is the object distance ?

A. 36cm ' B. 25cm C. 30om D. 150cm

38. If ihe focallength of the eye piece of a telescope is doubled. its magnifying power (m) will
be

A 2m B. 3m ¢ 3 D. 4m

39. A plano-concave lems is made of glass of refractive index 1.5 and the radius of curvature of
its curved face is 100 cm. What is the puwunl‘ihc lens ?

A +03D B.-“—-05D C. -2D D. +2D

40. Four charges equal to - are placed at the fout comers of a square and a charge ( Is at its
centre. If the system is in equilibrium, the value of q is

A 1) B 200
e Fona D. Fit+23)
7  PT.O.
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PHYSICS
(Bengali Version)
TN EITE A =21+ 3) 99 B=i+ | (o¥7 B waw coR A 7 O A -
1 3 | 7
A F B. —+— C. —F D. -
; % Nz ¥

IS TS PAS TR 2 (g=10m §2) |
A, 12507 B.  5000) C. 10007 D. 2500}

K @neAfws w7% SR W e ovd e Ered b oS 3 1w ), o e e
T ¥ TW, OIEeR Rl (T O v 7@ e R o e

A.  gl-K) B. g(l+K) G {FQ D.' 4”'%()

T 4% I o wﬁmmmmmhmmmmmaﬁﬁumb

MR 0 TP @ W ?
A 3 " B h C. 2h D. 3h

-

55T 6 kg B W TES Maﬂ=m..mmaﬁimnﬁx=%mmm

ST | (TS ST 331 43l O3 2 G0 99 90¢ o0 oY ¥
A. 12] B. 9J] C. 6] D. 3]

g el s 59 oifFioR SR S e ST GACE1 ¢ S Tty wfee Ty

A 2 B, C. t% pD. @
LTy I ST JENY v RSO YA | WS TIE G @ 70 3T 7

| oY » X,
A 2y B. 2; C 3 D. P

(.25 ky St <9 RIS 39 10 m/s HIOM IR W W8 T WNIe o 93 siae
0.0} &7 a TR 99 | IREE B b 39 30T o9Ys =
A. 25N B. S5ON C. 250N D, SUON

—
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9, mmr AEedd A B ol O g seRe wy on S e 1“ S 4T U, Ot

Agn Ffle SAnw Of 2@ ©7 N
A. 24/nhr. B. 24nhr . C. 24/n®hr. D. 24n’hr

10, U Tl WESTE T g 5, UR m O TN I G U Sfitdle I R g3 s
Swum e Y s i T

A, Eﬁ'g' B. E.g_& C. megR D. 2mgR
(1. Fr 7% o oo o 95 J00y oW €909 C U S 300 Waa
E r
| —awan——
_RI
} AN ———
| R]
—{} AAAAAAA,
C
: CER, CER, CER,
A. CE B, R, 1 C. e D. ot

12, fora o<fefs A G B &2 5 (Y 70 3@ ¢

Ao—l-m—l—w- > & mR T—*B
A. 3R B ‘K.

c % D. (@4B: T8

13. 5l swave @ o W R, frewise oo e sy ety | A e B 7 WETV volt O
B ot 3@ 5= | FC 3 547 fim A2m0es 577 5@

9 P.T.O.
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E Sfpesr @1 5w 57 mmmmmr,aqmmmﬁ-

@F R-03 5%e & s @ | 907 ouEg A8 e A 70 R an 5

T +0
A r, Ty A. 'r,t-+r_2 C. r—1y D. e

ABC @ AB'C’ w53 5w fioy 1 23 S | P RS 59 08X 39,7 BP = PB' =1 (94T
C'B' PBC STGa4)

_Ho (T
C. B=g D.. %

L 2% REE 93 orefs omm awr fo | s siFe o piestas oo e
(OIS 0% I |

A; PBw=—"= B. B=3T

121 by __)
4n T 4n

o 2y \ﬁlloI T,
A Rl B A G nL
@A afTeee Wy ok e aufh ghineg (s M-=3 B
mmthMWﬁmm%mmmw
T O o oE |l teweah M- STeT amne Ao o A e
I 7
A. +34eV B. +1.51¢V C. -34¢V D., -151eV
f wey U A 97 s R, ool comfin Robrms v @ e Ry | §iEe
et ofofse av 3@

2v 2v 4y 4y
A A2 B. A+a Cor K3 D. A+3
UNFX—"CF
7 6 |
X 7w,

A e B 'H C. ‘H Ps n
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T
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20, fArsrs ser S (tnah able) B ‘0F @ 2w WE 2

Input Output
A | B Q
0 0 1
0~ 1
1 0 1
1 1 0
A NOT B. AND ¢ OR D.  NAND
21, =uf® wwa f ST 0.50 o sl oo wew o w2 x 10 oo
TRTTE SR “fEesd 9
A. 06 B. 04 C. 0.2 D.

22. fF wfon B s, e @0 (UG T, 9375 ©F m-9F WO O I U | R (a) 97
| SHTBTH 2 (NS 5 TS (b)) 97 s (k = R e

k
k k
m
(a) (b) :
]
A. 25 B. 1§ ok -4—53 D. 2428
| '
23. TR TE o, TR S IMIT-EER T my SO 4 SR S OER 5w, ot
m,d, — m,d ' m,d, —m
| B it U " d;_l_'__&
| m, — m, i, = 8
| m,d, - m md, —m,d,
P, SN o
Ty = my =,

24, mﬁwm'mm.mmmmqmm U | g W TR 90
(e T OTTW WIWOEHE, 60 XU (IR I WIF | Q0T ety WHEE WY T

A. 09 B. 1.0 B 92 D. 15
25, x.am y AN s o SR T SRS T 2 ARG 59 g 0N o, o 23
H A - ‘
+
A x*+ ¥ B. +x+y C. " gk y D. 5'2-"':
1 P.T.O.
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3 oI e 0NTs m G W @ I By e
V() = A(] — cos px), (09I A S3% p 63 | I1MiET TF oW S T ST 9

" {__rri_ s { m m 1. [Ap

aetiay M0 o wd @i ot vl aem R M e 12 1% s oee U
Mmmmmmmﬁiww

/
cos o 2“_ gsinu. G 2“"\/; Do 2B g tan o

s;nﬁﬁnrﬁsmmii?&mwm-d | D Y Wiy 7R AEEE AT T TR
@ aai e e Rl i ool wwom Ien Gt G 3 e d o BT I |
D> a n? d?

2d B. 3 C. 5 D. §

A,

AFfE ST 5oTOT 1 Y = 2 cos 6.284 (330 t - x) | TAA(bA IIHEE TA ?

1 | 6.284
A F3p & B. 2nx330¢i. C. (Qmx 330)‘f . D. 330 &

x = 4(cos 7t +sin nt). IiEw 9 @

A [ a B. 4 C. &2 D. 8

A2 B 5B BIGIETa (&% U m"‘”f-aﬁgnlmwmnﬁmm it
E ? :
A —42° By --728 C. +12° D. —40°

o W A SR SO SERS0D I S 18 UoEA A1 92 51 oY w | T
TS FHOT AR TR T Mot 59 ond Ot ans o sl s R o

(y=1438 2714 =038) | Wigmo" & NG TR TS
A. 076:1 B. =13l - C. 066:1 D. 086:1

9 waE 0T O TG A A TS | AR G p IR T T TR B
p | Eerr AP QN TR 9E e 3 I I IS aoE ST O I A
A3 B9 58 .

A. 2(p+p) B. 2p+p C. (pt+p)2 D.” pt+2p

12

e

o
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34, 2 P PaT 12 em 9 SO GomeE fEeE B 93 TR 1.56 « 10° ) o fRiie 5

CROgTER ST O UTTTET AET 20,°C T RIgEE SR STl T (W m
K- q@an ’

A. 011 B. _0.13 ST 0 D. 12

35, a7 g 12 mwm(w;]wm-mmmwwmmm:

A, sin‘lg‘] B. tﬂﬂ“e‘) ¢, sm"(%] D. 90°
36, 20cm 9 25 cm (RS e AR T vt WE At QY S o9 3 | 3 RIS I19S
| ]
A. 9D B. 2D C. 3D 57D

37, sl U9 TR RO 99 30 om U G 959 § o 9 WieT ofew | 3§ W 99 7
A. 36cm B. 25cm C. 30cm D. 150cm

38. saft BRramm afemor cer e ot sae s Reds w50 (m) 3=

A2 i B. 3m Co o D. 4m

39, 15 ofewaz PR o Fm ol swomaeos o7 Ao o T mwm
100 cm | GFTSifEa B0t T0 ?

A. +05D B. 05D e 2D D. +2D

40, 3% sftwreg 5RE @ SF SRIE WH-Q AT ST F0TH WNE g WeE 1 ¥ SrE
ST WY U, R g 2 9 @

A, ?(HNE)_ B. 1}41+:@ |
C. ?mzﬁm D. %mm |

13 P.T.O.
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41.

42,

43,

46.

47.

48.
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MULTIPLE CHOICE QUESTIONS
SUBJECT : CHEMISTRY
FULL MARKS : 40
(Each question carries one mark.)

(English Version)
The normality of ‘30 volume H,0,’ is
A. 2678N B. 5336N C. 8034N D. 6.685N
Reaction of formaldehyde and ammaonia gives
A. Hexamethylene tetramine B. Bakelite
C. Urea D. Trethylene Tetramine

Aplotolfink agalust% (abscissa) is expected 10'be a straight line with intercept on ordimate

axis equal to

AS° AS° AS° =R
A 7303R B R G Fw D. . Rx48
Which of the following represents the composition of Camallite mineral ?
A.  K,0:ALO,-6810, B. KNO,
The solubility of Cay(PO,), in water is y moles/litre. Its solubility product is
A 6y B. 36y C. 647° D. 108y
Paracetamol is
A, Maethyl salicylme B. Phenyl salicylate

C. N-acetyl p-amino phenol D.  Acetyl salicylic acid

Anhydrous ferric chloride is prepared by
A.  Dissolving Fe(OH), in concentrated HCI

B.  Dissolving Fe(OH), in dilute HCI

C.  Passing dry HCI oyer heated iron scrap.
D). Passing dry Cl, gas over heated iron scrap.

Which one of the following is s-butyl phenylvinyl methane ?
¢

o Me

14
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49. Hybridization of C, and C; of H,C — CH=C = CH - CH, are
A.  Sp,Sp? B. Sp? Sp C. Sp? Sp D. Sp,Sp

50. Which of the following compounds is not formed in jodoform reaction of acetone ?
A. CH,COCH,] B. ICH,COCH,] C. CH,COCHI, D. CH,COCI,

S1, ' The energy of un electron m first Bahr orbit of H-atom is ~13.6 ¢V. The possible energy
value of electron in the excited state of Li%* is
A, -1224¢eV B. 30.6eV C. -30.6eV D. 13.6¢eV

52.  The amount of heat relcased when 20 ml 0.5 M NaOH is mixed with 100 m! 0.1 M HCl is
x kJ. The heat of neutrulization 1s

A, ~100xkl'mol B. —S50xkl/mal C. +100xklmal D. +50xklmel

53.  Which one of the following has the lowest ionization energy ?
A. 15?22 2p¢ B. 1s22s?2p®3s! C. 1s22s22p° D. 1s?2s%2p?

54. The ozone layer forms naturally by

the interaction of CFC with oxygen.

the interaction of UV radiation with oxygen,
the interaction of IR radiation with oxygen.
the interaction of oxygen and water vapour.

DOm»

55. 2 gm of metal carbynute is ncutralized completely by 100 mi of 0.1(N) HOL The equivalemt  *
weight of metal carbonate is

A. 50 B. 100 C. 150 ‘ D. 200

56. Which.one of the following is not true at room temperature and pressure ?
A. P,0,,is a white solid- B. 80, is a colourless gas

C. S0y is acolourless gas' D. NO, is 0 brown gas

37. An clectric current is passed through an agueous solution of a mixture of alanine
(isoclectric point 6.0) ghitamic acid (3.2) and arginine (10.7) bulfered at pH 6. What is the
fate of the three acids ? |
A, Glutamic acid migrates to anode ai pH 6. Arginine |5 present #s # cation and migrates

to the cathode. Alunine in a dipolar ion remuins uniformly distributed in solution,

B. Ghutamic acid mugrates to cathode and athers remain nn:fhrmly distributed in '
solution.

C. Al three renmunn uniformly distributed in mlunun
D. - All three move to cmhodc "

15 P.T.O. ‘
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The representation of the ground state electronic configuration of He by box-diagram as
T 1| is wrong because it violates

A Hysenberg’s Uncertainty Principle

B.  Bohr’s Quantization Theory of Angular Momenta
C  Pauli Exclusion Principle

D. Hund’s Rule

The electronic transitions from n = 2 to n = | will produce shortest wavelength i (where
n = principal quantum state)
A. - Li*? B. He' C- H D. H*

In (ke following electron-dol structure, calculate the formal charge from lefl to nght
nitrogen atom |

N=N=N

A ~L=1,#1 - B." =l1.41,-] €. 1, D.. +1,-1,+1

If the molecular wt. of Na,$,0; and I, are M, and M, respectively, then what will be the
equivalent wt. of Ne,S.0, mnd |, in the following reaction ?

28,0; +L——3 5,00 + 2

A MM, B. M, M,2

C. 2M, M, D. 'M,,2M,

A radioactive gtom ‘¥M emits two o particles and one [} particle successively. The number
of ncutrons in the nucleus of the product will be

A. X-4-Y B X-¥-5 C. X=Y-3 D. X-Y-6

An element belongs 1o Group 15 and third period of the periodic table. Its electronic
configuration will be

A 152252 2p3 B. 1s%2s% 2p*
C.  1s%2s? 2p5 352 3p3 D. 1s?2s? 2pS 352 3p2

Which one of the following is paramagnetic ?
A. N, B. NG €| £ D. O,

Platinum, Palladium and Iridium are called noble metals because
- Alfred Nobel discovered them.

They wre shmmg lustrous and pleasing to look at.

They are found in native state.

They are inert towards nany common reagenis,

SNE >
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74,
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Which one i1s not a constituent of nucleic acid ?
A. Uracil | B. Guamdine
C. Phosphoric acid . D. Ribose sugar

The sp*d* hybridization of central atom of a molecule would lead to
A.  Square planar geometry

B.  Tetrahedral geometry

C.  Trigonal bipyramidal geometry

D. - Octahedral geometry

In aqueous solution glucose remains as
A, Onlyinopen chan form B.  Only in pymanoze form
C.  Onlvin furgnose lomis D.  Inall three forms m equilibrium

Which of the following is used 1o prepare C/, gas at room temperature from concentrated
HC1? ' '

A.  MnO, B. H,S C. KMnO, D. Cr,0,
NO, is not obtained on heating
A, AgNO, B. KNO, C.  Cu(NOy), D.  PhINO,),

Two aromatic compounds having formula C,H,O which are easily dentifiable by FeCl,
solution test (violet colouration) are

-0-cresol and benzyl alcohol

m-cresol and p-cresol

o-¢resol and p-cresol

methyl phenyl ether and benzy! alcohol

The ease of dehydrohalogenation of alkyl halide with alcoholic KOH is
A BP<2%ail® B. "3pgeele £ "WeI>° Biai® > 27 <) #

The ease of Nitrafion of the following thres hydrocarbons follows the order

CH, CH, CH,
© ©., |

\

: @ () auy
A O=HI~I B. I>M>I C. II>I>I D. 1-1>0

The correct order of decressing acidity of nitrophenols will be
A. m-Nitrophenol > p-Nitraphenol > o-Nitrophenol

oNwp

B.  e-Nitrophenol > m-Nitrophenol > p-Nitrophenol

C.. p-Nimophenol > m-Nitrophenol > o-Nitrophenol
. p-Nitrophenol > o-Nitrophenol > m-Nitrophenol

17 | P.T.O.
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Asmong the alkenes which one produces testiary butyl alcohol on acid hydration ?

A. CH,-CH;- CH=CH, B, (CH,-CH=CH-CH,

C. (CH,,C=CH, D. CH,-CH=CH,

Which ui‘ thc followmg cnmpouuds has maximum volanlitv ? e

O Qe @O

COOH
Which one of the following will show optical isomerism ?
H H |
| | -
A HO—c oo B. H,c—C—CO |
|
H OH |
CH, CH,
| I
| ' |
H Cl |

The pH of an aqueous solution of CH;COONa of concentrated C(M) is given by
A. ' 7 —‘%‘pKﬂ+%lng C

B, %pKN%pKﬁ%InsC

C. %pKw—‘;'pr*%lugC . |

D. 2plg“+ pK +2h}gC l
The standard reduction potential E° for half reactions are

Zn=2Zn*2+ Ze E°=+0.76 V

Fe=Fe¢ < + Ze E°=+041V
The EMF of thé cell reaction

Fe™2+Zn=2n"*+Feis |
A =035V B. +035V C. +L17V D =11V |

If the equilibrium constants of the following equilibria
!
50, +50; =505 and 250 == 250, + O
are given by Ky and K respectively, which of the fallowing relations is corract 7
PPNt | 1
A, . o (==
o [1“1 [ FA (KJ

J

£ Kz“[_ﬁ:} D. K,=(,?

: 4
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CHEMISTRY
(Bengali Version)
41. HmEF H,0," @ et grar §3A ‘ |
A. 2678N B. 533N C. 8.034N D. 06.685N
2. wmmEreRES BncET sy A Suw am |
A comf GIRR B. T |
€. ¥ERm D. % - M= GRS

O, @me TS R In k 81 T (-7 @) 57 A e st e ool
|

ST IR UG, MAW y-WF GRled (e TR
AS® - AS° AS°

A. 2303 R B R C. R D. R x AS®
44, Pty ofin e Furngs wiise Save sgfe 2
A. K,0:ALO, 6Si0, B. KNO,
C. K,SO,:MgSO, - MgCl, - 6H,0 D. KCI-MgCl, - 6H,0
45. Ca,(PO,), 47 B0 TAO! y molesitre | TR ST Q1T
A o6y B. 36yt C. 64y D. 108°
46, smaifieEe T
A. ke smfernien B. ke smforsniet |
C. N-wyfadEs pahen o D wfEEe s anfs |

47. G cefi EaEe 0ol ew TN
A. Fe(OH), @ *fF HCI 4 5390 313 |
B. Fe(OH), @ &1 HCl 4 539% '@ |
C. TI9 6P @O T a8 HOH iR
D. Tz ¥t ooe S o o s ol |

48. Fv7 @fe o-eGerte e faams e 9

: e Ph
. Ph Me . _
A. Ph gl " X/\ C. Me D. W"
- Me

19 <) P.T.O.
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49. " M- CH=C= CH - CH, &t C, Uk C; - 97 53 TRiee T 14
A. Sp,Sp’ B. Sp%Sp . C. Sp? Sp? D. Sp,Sp

s e cilie mnTEeBA sommstes! ffEs Tod o A1 7
A. CH,COCH,l B. ICH,COCH, C. CH,COCH, D. CH,COCI

=

S1.  TETETOT S (I A0S Rl S 13,6 oV | Li 1 B 1fs wa TR SR

st
A, -1224¢V B. 30.6eV C. -306ev . D. 136eV

52, 20 FifEr 0.5 M NaOH =513 s 100 5785, 0.1 M HCL 584 oot o « k) ozt wpesis {

g o || Rizfie s sem wW |
A, -100xkl/mol B. . -50xkJ/mol C. +100xklimol D. +50xki/mol ’

53. (arbe wrany e s ?
A 1s? 252 2pS B. 1s22s22p53s! C. 1s22s22p° D. 1s22s22p?

34, TERUE @EDe s s T T Y A

A.  CFC 4% S0% SaPwems [

B, UV IFE sor s fe |
C. IR ¥ S S@RenAd Farm

D. IHGH IR GEIm Fmewm SEEm

35, mmmmzmwwmmmﬁm olmﬂmm
Ty | {107 INANADDD FoE O IS 2

A 50 B. 100 ¢.».| 150 D. 200
56. FOIRS O aae Fre e @En ow Wy ? . .

Ao P0,, 5 s ol B. S0, % 3@ o

C. SO, 53 T 1 D. NO, 5378 I s

ﬂ.aﬁmmmmﬁ!{mﬂan%tﬁﬂ} tamic FME (32) S/ |

arginine (10.7) i@ @ms ww pH 6 (buffered) mmm&
=2

A, Glutamic TTHS WGE @ pH 6 - anummﬁmmmm
R | W e T ST SS9 R SR € 4R |

B. b g Smums wR aay 1Y BT stawend e wibon dtera | :

feadl sarrens savt w9

D. f&E% zmens e |

2
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He st s Siewen Sovab femes [T1) o8 wim fifte om v o o ot
A SRR o2 STl A

B. (it (FIFFF Surae e EnT oF W A1

C. g s Mo s =t

D. e 5w : ' | :
n=200F p = | ORIGE RENR G REW I ST FoE Rl 1 ¢
(n = 37 ST &) -

A L% B "He! C. H D. H' -

MR e 0N Tl (ormal) AR wem @R AW B0 SMReT RGeS
ST T

N=N=N

o O T B. —1,+1,-1 C. +l,-1,-1 D. +1,-1,+]
NS0, % 1, 02 SMiew 9w M, a3 M, 307, P RIBUTS Na,S,0, oe L, 93
TR BT I g Y '

A M,M, B. M,M,2
C. 2M;,M, D. M, 2M,
mmm@mmmmunwm | B g Aighmes
Figi s 79

A UX-45Y B. X-¥-8 Cl X-¥-3 D. X-Y-6
GHt 4D S TR |5 G o ot iy i | S et s T
A. 15?282 2p B. 1s22s?22p*

C. 1s?2s%2p63s2 3p3 D. 1s? 2s? 2p0 352 3p?

it oftrs wmar coriy Seedm 7

A N, - B. NO C. CO 5 e

wniAs, ireienm ae fafewmr cie Rl g (uoble metals) 207 | S,
A, TR AT Yo enfesm InE |

B. Rwsy o PN 4 R P |
C. Exig @itE Sy 21ey Ty |
D. wfere gsmAe Rfeuwzs o Tan RSsmds |

21 4 P.T.O.
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| 66. ST WAT (FAIE HOFS WIS G 7 7 |
| A. T B, owfter |
il C. wwiEe anfs D. @S Py |
| 67. I ST WE @EN AR TR spd® 77 N ol o
A serodig e B, Sy AR
- €. T - Rivafegio D. GETHIN WO
68. I W A0 AN d
A, TR Y NN WIS B. &ALy AEANATS Wiy
C. oo RFEanane soghons D. [t wgfEre? soreey W |
69. ¥ HCI ¢t Seram wynemy Cl, s e Fam o fsferte cm omel agw s w2
A Mn0O, B. HS C. KMnO, D,  Cr0,
| 70. Fitse cov v s Se9 IRt NO, I T ¢
A.  AgNO;- -B. KNO, C. Cu(NOy), D. PbNO,),
7. T AR o0 T e CH0 R M FeCly Wom sy {tEm ww swet
SIS B WW (RSN ) S T !
A oS 99 WNE WIETEE, B, meGRE 9 pCREe |
C. -5l AT p-CosTet D. s feads Tum a3 cans e |
T2, GRS TG Sy Eenetitve KOH 47 Sutterenieoer Rra oo vom
FH TN
. A PRPHE B, RIABPENSCNTEFISIM . B Tl
73, e el alrprdns AR ge Se W or She w5
CH, CH, CH,
W I " ]
| m )
A, H=M=] B. O>M>I C. M>O>I D .I=m>0[ :
74. mmmaﬁzﬁﬂm:ﬂ 1

A mARETERE > p- TRETEES > o- AT |
B. o IR > m-AIEENERE > pARCigee |
C.  p-AROIRS > m-ARENT > o AN
| D.  p-AEGTRE > o-ARETEE > moAiteE
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wnefeAafim gy @mt wrfse siveae brtuiy REEke amees B aw 2
Ar CH; - CH: o C!'! = CH; 'B« 'CH].' CH‘:C-EI‘-‘Cl{a
C. (CH,),C=CH, D.  CH,-CH=CH,
e e ofevm Ty et sative Bwrdl 2

fRefeie off wwer il aeirdy st (isomerism) G ?

H H
| L |
A. Ho-ri:—'-cain B. H,c-_t':-co,H |
H | OH
CH, CH,
[ | I
C. H,C -—_-(lz— CO,H D. H,C— C—CO,H
1
H Cl |
C(M) e 99f6 CH,COONa 43 = 5ot pH 7@
1
A. '?—'fp!(.-i-%!ogc
b2} iy .
B. 2 PK, +7pK, +3lag C . :
1 1 1 ,
C PR~ pKy-3l0gC |
- N |
D. 3pK +5pK,+7510gC
o frsieiie e fafug e i Rem foe B0
In=7n"?+Ze E°=+076V
Fe=Fe*?+ Z¢ E°=+041V
o, e BB Fe'2 + Zn =20 + Fe 97 EMF o
A. -035V B. +035V C.. +.17V 7 BE B

ﬁvﬁrﬁeﬁ&mﬁam.msaﬂ%o,ﬁsmmmﬁzmﬂo,
T K| 4R K, T8, F5g o 7l s o
1\2 1y ) .
gy s, 5 .
. 15}
s Kz’[’ic" D. K=K\
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